40 50 60 7 14

337,653 1.0(1,523,616 4.513,242,896 9.6]14,897,497| 14.5|4,960,200( 14.7
36,581 1.0 212,888 58| 524,996| 14.4| 709,871| 19.4| 812,230| 22.2
29,198 1.0 158,408 54| 325,854 11.2| 421,417| 14.4| 475,472 16.3
6,707 1.0 26,711 4.0 62,076 9.3 91,715 13.7 83,512 125
3,176 1.0 9,577 3.0 20,664 6.5 33,217] 10.5 34,444| 10.8
5,363 1.0 21,657 4.0 50,401 9.4] 101,808| 19.0 71,997 13.4
1,254 1.0 7,517 6.0 18,819 15.0 35,677 285 21,698 17.3
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(%)
31 40 5,962 542 10%
41 50 40,916 3,889 10%
51 60 126,229 8,729 %
61 I 260,742 15,575 6%
8 12 135,674 21,506 16%
13 22,793 5,045 22%
14 19,011 2,946 15%
610,927 58,232 10%
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